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1.Referring to the exhibit, which two statements are correct? (Choose two.) 
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A. The BGP neighbor can advertise L3 VPN related routes. 
B. The BGP neighbor cannot advertise EVPN related routes. 
C. The BGP neighbor can advertise EVPN related routes. 
D. The BGP neighbor cannot advertise L3 VPN related routes. 
Answer: CD 
 
2.Referring to the exhibit, which two statements are correct? (Choose two.) 
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A. The maximum wattage that this switch can allocate to attached Ethernet devices is 100 watts. 
B. If the total power consumption exceeds 90 watts, the ge-0/0/11 interface will continue to receive 
power. 
C. PoE is not enabled on the ge-0/0/0 interface. 
D. The ge-0/0/10 interface supports PoE+. 
Answer: A,D 
 
3.Referring to the exhibit, how will router E quickly learn that the remote MAC addresses are no longer 
reachable through the router attached to the failed link? 
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A. Router E receives Type 2 withdrawal messages from router D. 
B. Router E receives Type 1 withdrawal messages from router D. 
C. Router E receives Type 1 withdrawal messages from router C. 
D. Router E receives Type 2 withdrawal messages from router C. 
Answer: B 
 
4.You are deploying new Juniper EX Series switches in a network that currently is using Cisco’s Per-
VLAN spanning tree plus (PVST+) and you must provide compatibility with this environment. 
Which spanning tree protocol do you deploy in this scenario? 
A. STP 
B. MSTP 
C. VSTP 
D. RSTP 
Answer: A 
 
5.Referring to the exhibit, anycast RP is implemented to ensure multicast service availability. 
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The source is currently sending multicast traffic using group 239.1.1.1 and R3 is receiving PIM register 
messages, but R2 does not have active source information. 
In this scenario, what are two methods to receive the active source information on R2? (Choose two.) 
A. Configure an RP set in PIM on R1, allowing R1 to forward PIM register messages to R2 and R3 in the 
set. 
B. Configure an MSDP protocol between R2 and R3. 
C. Configure an RP set in PIM on R2 and R3, allowing the RPs to forward PIM register messages to the 
other RPs in the set. 
D. Configure an MSDP protocol between R1 and R2. 
Answer: A,C 
 
 


